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J—Z1 AETVYRRROY—Z3—F

procedure TTrmT bunsanGrbya ji;
var

Liinteger;

nen,intMeninteger

sty AR Y MR St rinD;

Gtotal Mtotal Rtotal, Ltotal T,ALBJ Do uble;
Stea,ShSedoukle;
S1.52.53,5T1 double;

Aol A2 A3 double;

B0 Bl double;

meanT double;

WCarray(t 12] of string
Lo:Arrsy[1 .1 2] of double;

L1 :Arrsy[1.12] of double;
CTotalarray[l 5] of double:

begin
D HEATE
St=0Se =05 =05 0h=0;
Aol =00 A2 =00 Aae 3 =0
21 =052 =053 =05TT =0,
AARERDRIICL NS
o[ 1=03"mo[2]=04" mo[3]=06"mo 4 =06 mo 5] =07 molE]="08"
mO[7 =09 m0E]=1 0 m0[E]=11"m00 0]=12"m00 1 =01 mO0 21="02";
stringGrid! RowCount=52;
stringSRid ColCount=20;
stringGRId CoWidths[0]=50;
QT T T o o o o ot o o 8 ot o T o o ot L o S o T e
HAADET EHEOYP—
B T o o o o o o o ot o o ST o o o o o et L P e S e e e e
stringGRId! Cells[0,0]="5 2,
Gtotal=0; Mtotal=0:Rtotal=0; Ltotal=0;T =0:i}=0;
fori=1 to12 do
ke gin
stringGrid! Colwidths[1=60;
stringGrid! Cells[[,0]=m00]+ H’;
Lof=o;u1 01=0; /4 HEt
end;
forl =1 to & do
Ctotallll=0; //HEEET

stringGrid! Cells0 3,0]1="551"
stringGrid! Cells[1 4,0]="&8t" 2"
stringGrid! Cells[ 5,0]="FF 7,
A
stringGridl Cells[06]="&§t"
stringGridl Cells[0,7]="&51"2"
stringGrid! Cells[0,8]="8 F+9:
A7 Fewasl|
rie n=strToint copd frmDke nto editd Text,1 400
he f=hne n—;
LT —RMH
with Datablodule? do
ke gin
A

sgluend SQLClear;

soilluend SOLAMIUSELECT SUMITURIGK) FROM FLIB450/ZKTBUTREC');

soiciuaryd SCL A WHERE T v hbi= bt ):
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£
case frmDkento RadioGroup Itemlindex of
1:
be gin
sgQuenyd SCLAINAND TRAISY=TRAISY);
solQuend ParamByhMamel ' TKAISY ) AsString="T"
end;
2:
begin
solluend SOLAMD AND TAISY=TKAISY);
so@uend ParamByhlamel TKAIS Y ) AsString='S";
end;
end;
s
=i
for =1 to & do /A EE
begin
reant:=0;
stringGridl Cells[0I=intTostd ne I+ 5
Yy =int Tost nent);
AdmeanT =meant+v);
Ctotal[il=0 ; MNtotal=0;
for J=1to12da /78
begin
sty AR = RO
it J:=11 then
ke gin
intMen:=0;
intMen=strToint]¥y);
intMen=intMNen+1 ;
Yy =intTostr intMNen);
end;
solClueryd ParamByMame Mt ) AsInte ge r=strToint{stry i)
try
sgCuend Open;
urll, J=(s0iQuena FieldByMName( 00001 ‘1 AsFloat/1 00000000),/ /T — 2483 1.E LA
stringSridl CellslJI=format("% LoD, 100;
A/Ctotalll=Ctotall+urlid, //FEE
vig=viprUre[ deurli J; /47 — S0 2 50
finallhy
soGuend Close;
end;

s

e nd;
£
end;
forl=1to&5do //HEEST
e gin
for J=1 1012 do
be gin
Ctotalll]=Ctotallil+urlL I
LOLJ]=LoL T+l fI;
/7B =Bj+ LoLJLolJ];
& nd;
stringGRId Cells0 3 1:=format("%n’ [Ctotal 1110,
stringGRid Cells0 4 1]=format("%n’ [Ctotalll+CTOT ALOTL; /72 40
stringGRId Cellsl 5 I=format{"%n’ [Ctatallll/1 213 S D Y
I
Gtotal=StotaH+Ctatal[1];
Ai=AiCtotal[[+Ctotal[l;
case I of
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1:
ke gin
awl =fwl +HCtotal[l J+—2;
A2 =2 +CToatalll 1x2;
A =3 +CTotallt 1 ;
e nd;
2
be gin
gl =l +ototal[2 -1
A =2 +CTotal[2 141 ;
w3 =AwI+CTotall21x2;
e nd;
3
begin
gl =fwl +Ctotal[3 0
A =2 +0Total[3-2;
A3 =Aw3+CTotal[3x0;
end;
4
begin
sl =fw +ototall4];
P2 =R ?+CTotal[4 141
A3 =AwI+CTotall4Ix—2;
e nd;
o
begin
awl =l Hototal[5 142
Az =hw2+CTotall51x2;
A3 =Aw3+CTotall51x1
e nd;
e nd;
Series! AddiCtotallilstringGRid Cells[0,11);
end;
for J=1t012 do
begin
stringGrdl Cells[Ja]=formatl %~ [LoLJO1);
stringGrid! Cells[J7I=farmat{ % [LOL ]+ LoLJTD);
stringGridl Cells[Jal=formati % [LOLDAS]D:
bj=hp L[+ LOL];
end;
stringGridl Cells[ 3.6]=format] %n’ [Gtotall);
stringGRId Cells[ 3,7 ]=farmat{"%n' [BJ1);
stringGRIdT Cellis( 4 61=fo rmat{%n, [ail);
£
end;
A
stringEridl Cells( 8)=farmat{%n,[vil);
stringGrdl Cells[2 8] =format % [Gtotal]);
stringGridl Cells[38]=format( "% [Al):
stringGrid! Cells[4,8]=farmat(%n [E]1):
£
Sa= A/ 2-Grotal+Gtotal /G0,
Sh= hj'5— GTota*Gtotal G0,
St= vwij —GTotakkGtotal G0,
51 =awl kawl A0,
S =AWk A2 14,
S =Aw I Awa A 0
ST1 =Ai-Gtotal*Gtotal/s;
£
stringGRid! Cells[01 0]="43 8 3§71,
stringGRid! Cells[0,111="1 JRENFR;
stringGRid! Celis[012]="2 k&7
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stringGRid! Cells[013]1="3REF;

stringGRId Cells[014]="5592"

stringGRid Cells[015]="§32%7— L

A/ stringGRId! Cells[1,111="4";

A/ stringGRId Cells[2 11 1=format("n’ [5al):

A /stringGRidt Cells(3 11 1=format%m [Sa/4]);

AlstringSRid! Cells[4.11 I=format{%n [Sa/4 )/ U5t-5a-Sh) 44110
stringERId Cells[ 11]1=1";

stringGRid! Celis[2,11]=farmat{%n’ [51]);

stringSRid Cells[311 I=format{%n [51 /11,

stringGRId Cellsl 12]="1"

stringSRid! Cells[2 1 2]=format[%n [S2])

stringSRId Cells[3,1 2]=farmat{%n’ [32/1]);

stringGRId Cells0 13]1="1"

stringSRid! Cells[2 1 3]1=format[%n [S3])

stringSRId! Cells[3,1 3]=farmat{%n" [3371]);

stringGRId Cells[ 14]1="1"

stringGRId! Cells[2,1 41=format%n [5T1-51-52-531):
stringERId! Cells[ 15]="3";

stringGRid! Celis[2 1 5]=farmat{%n’ [E2+33+E5T1-31-532-83)]};
stringGERI Cells[3,1 5]1=formsti%n [(32+33+H5T1-31-32-53 /310
stringGRid Cells[4,11 1=format{*n’ 051 A1 1/ ((S2+35+HST1 -31 -52-53]1/311);
stringGrid! Cells[1 161="4";

stringSridl Cells2 1 6] =format]%n’ [St1 1)

£

stringGRid! Cells[018]="FFE &,

stringSRid! Cells[t 18]="11";

stringGRId! Cells[2 1 8]=farmat(%m [Sk]):

stringSRid! Cells[3,1 3]=farmati % .[Sh11 10

stringGRid! Celis[4,1 8]=format{*n’ [(Sb/11 )M (St-8a-20)/44)]);
stringGRid! Cells[019]=i3 =2 &,

stringGRId Cells[2,1 9]=formatl % [St-Sa-Sk]);

stringGRid Cells[3,1 8]=format{"%r [(St-Sa-Shl/44]);

stringGRId Cells[ 10]="B 8E";
stringSRid! Celis[1 19]="44"

stringGRid! Cells[2,10]="F 5 %0

stringGRId Cells[3,1 0]="9%"

stringGRid! Cells[4,1 0]l="F&";

if (Sa/4)/St-5a-5h)/441>=4 06 then
stringERid Cells[5 11 ]=""

if (Sa/4)/(St-Sa-5h)/44 1>=7 20 then
stringSRId Cells[E 11 ="

if (Sh/3 1 (ISt-5a-Sh)/441>=4 08 then
stringGRId Celis[5,18]=*"

if (Sh/11)/(St-8a-5h)/44 1>=7 20 then
stringSRId! Cells[E 18] ="+x"

stringGRid! Cells[020]="22Z5 &h";

stringGRId Cells[1 20]=55"

stringGRId Cells[2,20]=farmat%n,[St]);

A FRHE

B0=GtatalsS;

Bl =awl 10;

stringGrdl Cellsl022]=FH|{E":

stringGrdl Cells[023]=FF"

stringGridl Cells[ 23]=intTostd nent+&);

stringGrid! Cells[2,23]=Format %’ [h0+1 #({ MNe n+E - meanyear)]);

stringSrdl Cellsl 24]=intTostdnent7);

stringGrid! Cells[2 24 =Format] %, [0+ #{{ Ne r+7 i-meanyeaari]);

end;
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